Side Frames Shown
for Reference Only

For Reference

Frame and Crossbar
Only

/ Shown

Crossbrace - Conventional Fixed Depth (FXDDPTH)

Crossbar Shown
For Reference



Crossbrace - Conventional Fixed Depth (FXDDPTH)

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A See Chart #1 Crossbrace Assembly w/ Hardware - Myon 1 1
3 B 1173765 Kit, Saddle Clamp w/ Hardware (Pair) 1 1
4 Clamp, Saddle, Crossbar 1 2
5 NLA - Screw, Socket Button Head (M6 x 40mm) 1 4
6 NLA - Locknut (M6 x 1) 1 4
7 C 1173771 NLA - Kit, Crossbrace Bolt w/ Hardware (Pair) 1 1
8 Washer, Plastic 1 2
9 NLA - Screw, Hex Head (M8 x 1.25 x 80mm) 1 2
10 NLA - Washer (M8 x 16mm x 1.5mm) 1 4
11 NLA - Locknut (M8 x 1.25) 1 2
12 D 1173779-NLA | NLA - Kit, Pivot Link w/ Hardware (15 - 17" W) (Pair) 1 1
13 NLA - Link, Pivot, Crossbrace (15 - 17" W) 1 2
14 NLA - Locknut (M6 x 1) 1 2
15 NLA - Screw, Socket Button Head (M6 x 40mm) 1 2
12 D 1173767-NLA | NLA - Kit, Pivot Link w/ Hardware (18 - 20" W) (Pair) 1 1
13 Link, Pivot, Crossbrace (18 - 20" W) 1 2
14 NLA - Locknut (M6 x 1) 1 2
15 NLA - Screw, Socket Button Head (M6 x 40mm) 1 2
NOTE: A -Includes items 3 - 19.
B - Includes items 4 - 6.
C - Includes items 8 - 11.
D - Includes items 13 - 15.
#1 Crossbrace Assembly w/ Hardware - Fixed Depth
Seat Depth 15" Wide 16" Wide 17" Wide 18" Wide 19" Wide 20" Wide
15" Deep 1172249 1172250 1172251 1172252 1172253 1172254
16" Deep 1530032 1530033 1530034 1530035 1530036 1530037
17" Deep 1168733 1168734 1168735 1168736 1168737 1168738
18" Deep 1530038 1530052 1530053 1530054 1530055 1530056
19" Deep 1172255 1172256 1172257 1172258 1172259 1172260
20" Deep 1172261 1172262 1172263 1172264 1172265 1172266




